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1 N BB 3 KIRFBTAF 37 33 70 25
2 IS 2 IR 38 35 73 24
2 B EL A 3 TR 37 36 73 24
4 IR 3 KBREFFEAF 38 36 74 22
4 B X1 1 RETR B LA 38 36 74 22
6 BIH EiE 1 AR AT 39 36 75 20
6 HE XA 1 ArEREAAT 38 37 75 20
8 | fafe 1 AR 42 34 76 18
8 FRH & 2 TR 40 36 76 18
8 mHFE 4 KFFIKRZF 39 37 76 18
8 5 B 3 KBRZFFEA 35 41 76 18
12 ERET 3 KRFBTARF 40 37 77 14
13 g HA 2 AT RAT 39 40 79 13
14 BA % 1 TR IR F 39 41 80 12
15 EOS 4 ABREEXRF 42 40 82 11
16 = TE 3 Eapi=a e 41 43 84 10
17 BEAE X 4 b N 44 41 85 9
18 =k = 2 B AE 46 41 87 8
19 M O 2 i 44 44 38 7
20 BIE 2 4 N 51 40 91 6
21 INREE 2 KFFIAE 52 42 94 5
22 BEE B'B&aT 3 EapiEEal N2 53 43 96 4
23 &8 B 4 N2 54 52 106 3
24 TER A 3 =2 60 56 116 2
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